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AIAPGET 2021 Siddha Set 01

Topic:‐ AIAPGET_S21_SID_S01

Which of the following is Siddhar’s alternative theory?

சி த கள   ம ெறா  ேகா பா ?

[Question ID = 1]
1. Muppu/   

[Option ID = 1]
2. Rasaesuradharisanam/இேரேச  ரத சன 

[Option ID = 2]
3. Siva siddhatham/ைசவசி த த 

[Option ID = 3]
4. Athuvithanilai/அ  வ தநிைல

[Option ID = 4]

Which of the following denotes, “Kaariyasariram”?

“கா யச ர ” எ றா  எ ன?
[Question ID = 2]

1. Piranamaya koosam/ப ராணமய  ேகாச  [Option ID = 5]
2. Manomaya koosam/மேனாமய  ேகாச  [Option ID = 6]
3. Annamaya koosam    /அ னமய  ேகாச  [Option ID = 7]
4. Aanandhamaya kosam/ஆன தமய  ேகாச  [Option ID = 8]

Which denotes “the completion of the desired work without any interruption”?

“தா  வ   ப ய எ ெதாழிைல   இைட றி றி        த ”,‐ என ப வ ?
[Question ID = 3]

1. Vasithuvam/வசி  வ  [Option ID = 9]
2. Piraapthi /ப ரா தி [Option ID = 10]
3. Piraagamiyam/ப ரகாமிய  [Option ID = 11]
4. Karimaa/க மா [Option ID = 12]

Who states that “The body is formed from the soul”?

“உய  லி   தா  உட  ேதா  கி ற ” என    பவ  யா ?
[Question ID = 4]

1. Saangiyar   /சா கிய  [Option ID = 13]
2. Aagamavaathigal/ஆகமவாதிக  [Option ID = 14]
3. Vaethaanthigal/ேவதா திக  [Option ID = 15]
4. Ulagaayathar/உலகாயத  [Option ID = 16]

Which one of the five elements denotes “Aanavam”?

“ஆணவ ”‐ எ த  த ைத   றி   ?
[Question ID = 5]

1. Earth /ம  [Option ID = 17]
2. Water/ந   [Option ID = 18]
3. Fire  /த  [Option ID = 19]
4. Wind/வள  [Option ID = 20]

Based on the inference (Karuthal), Sivam can be proved by how many methods?

க தைல  ெகா   சிவ ைத எ தைன வ தமாக  நி ப  கலா ?

[Question ID = 6]
1. Two/இர  

[Option ID = 21]
2. Three/   

[Option ID = 22]
3. Nine /ஒ ப 

[Option ID = 23]
4. Four/நா  

[Option ID = 24]

Uyir(Life) present within the Asithupporul has which one of the following Avaththai?

அசி   ெபா  க    ேள இ     உய   ப  வ   எ த ஒ  அவ ைதைய ெகா   ள ?
[Question ID = 7]

1. Vizhippunilai/வ ழி   நிைல [Option ID = 25]
2. Urakkam/உற க  [Option ID = 26]
3. Uyirppadakkam/உய   பட க  [Option ID = 27]
4. Paerurakkam/ேப ற க  [Option ID = 28]

In Our body, Mind(Ullam) is a component of which of the following Bootham?

ந  உடலி , உ ள  (மன ) எ ப  ப  வ   எ த  த தி    றா  ?
[Question ID = 8]

1. Mann (Earth)/ம  [Option ID = 29]
2. Vali (Air)/வள  [Option ID = 30]
3. Thee (Fire)/த  [Option ID = 31]
4. Vin (Space)/வ   [Option ID = 32]

Name of the cellular organelle where Respiratory chain  is located 

 வாச ச கிலி அைம   ள ெச  லா  உ    ெபய  
[Question ID = 9]

1. Lysosomes/ைலேசாேசா க  [Option ID = 33]
2. Microsomes/ைம ேராேசா க  [Option ID = 34]
3. Mitochondria/ைம ேடாகா   யா [Option ID = 35]
4. Nucleosomes/நி  ள ேயாேசா க  [Option ID = 36]

Adrenalin is synthesized from which of the following amino acid?

அ  னலி  ப  வ   எ த அமிேனா அமில திலி    தயா  க ப கிற ?
[Question ID = 10]

1. Tyrosine/ைடேராசி  [Option ID = 37]
2. Alanine/அலைன  [Option ID = 38]
3. Lysine/ைலசி  [Option ID = 39]
4. Tryptophan/   ேடாப  [Option ID = 40]

What is the function of Carnitine Carrier System?

கா ைனைட  ேக ய  அைம ப   ெசய பா  எ ன?
[Question ID = 11]
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1. Transport of aminoacids into the Mitochondria/ைம ேடாகா   யா     அமிேனாஅசி கள   ேபா  வர   [Option ID = 41]
2. Transport of fatty acids into the Mitochondria/ெகா    அமில கைள ைம ேடாகா   யா     ெகா   ெச வ  [Option ID = 42]
3. Transport of glucose into the Mitochondria/ைம ேடாகா   யா       ேகாஸி  ேபா  வர   [Option ID = 43]
4. Transport of ATPs into the Mitochondria/ைம ேடாகா   யா    ஏ ப  கள   ேபா  வர   [Option ID = 44]

Which one of the following hormone is synthesized by Leydig cells?

ப  வ   எ த ஹா ேமாைன ேல   ெச க  ெதா  கி றன?
[Question ID = 12]

1. Insulin/இ  லி  [Option ID = 45]
2. Glucagon/  ேகாக  [Option ID = 46]
3. Calcitonin/கா சி ேடான   [Option ID = 47]
4. Testosterone/ெட ேடா  ேரா  [Option ID = 48]

Which one of the following hormones is steroid in nature?

ப  வ   ஹா ேமா கள   எ    ரா  ?
[Question ID = 13]

1. Oxytocin/ஆ ஸிடாஸி  [Option ID = 49]
2. Vasopressin/வாேசாப ரசி  [Option ID = 50]
3. Growth Hormone/வள  சி ஹா ேமா  [Option ID = 51]
4. Aldosterone/ஆ ேடா  ேரா  [Option ID = 52]

The protein moiety of a Lipoprotein is called as?

லி ேபா ேரா  ன    ேரா    ெமாய  ய   ெபய  எ ன?
[Question ID = 14]

1. Carrier Protein/ேக ய   ரத  [Option ID = 53]
2. Receptor/ெரெச ேடா [Option ID = 54]
3. Apoprotein/அேபா ேரா   [Option ID = 55]
4. Enzyme/எ ைச  [Option ID = 56]

What is meant by “Translation” in Genetics?

மரப யலி  “ ரா  ேலஷ ” எ றா  எ ன?
[Question ID = 15]

1. Formation of mRNA from DNA/ .எ .ஏவ லி    எ .ஆ .எ .ஏ உ வா க  [Option ID = 57]
2. Formation of tRNA from DNA/ .எ .ஏவ லி     .ஆ .எ .ஏ உ வா க  [Option ID = 58]
3. Formation of RNA/ஆ .எ .ஏ உ வா க  [Option ID = 59]
4. Formation of Protein from mRNA/எ .ஆ .எ .ஏவ லி     ரத ைத உ வா  த  [Option ID = 60]

Which bone doesn’t have tendon attachment?

இதி  எ த எ ப   ேபசிநா  ப  த   இ ைல?
[Question ID = 16]

1. Pisiform/  தி  [Option ID = 61]
2. Talus/சா  எ   [Option ID = 62]
3. Calcanum/ தி கா  எ   [Option ID = 63]
4. Patella/ ழ தா  சி  எ   [Option ID = 64]

These are the purely cartilaginous joint except one?

இைவக  எ       ச தி வைகைய  சா  த  ஒ ைற  தவ ர?
[Question ID = 17]

1. Pubis symphysis/ேமகன அ ச கி ச தி [Option ID = 65]
2. Intervertibral Joint/வ சி இைட ச தி [Option ID = 66]
3. Costochodral joint/ப      ச தி [Option ID = 67]
4. Sternoclavicular joint/ெந ெச   ெச    ச தி [Option ID = 68]

Which one following group of muscles belongs to cutaneous muscles?

ப  வ வனவ றி  எ த வைக ேபசிக  ச மஅ  ேபசிக  வைகைய  சா  தைவ?
[Question ID = 18]

1. Masticatory muscles/தாைட ேபசிக  [Option ID = 69]
2. Scalp muscles/ம ைட ேபசிக  [Option ID = 70]
3. Supra hyoidal muscles/த ேம  ேபசிக  [Option ID = 71]
4. Muscles of the eye ball /வ ழி  ேபசிக  [Option ID = 72]

Arteria dorsalis pedis of the foot  is begins from which artery? 

"ஆ   யா டா சாலி  ப    நா "‐யான  எ த நா ய லி     வ  கி ற ?
[Question ID = 19]

1. Continuation of posterior tibial artery/ப   நளக நா ய   ெதாட  கிைள [Option ID = 73]
2. Continuation of anterior tibial artery/   நளக நா ய   கிைள [Option ID = 74]
3. Branch of posterior tibial recurrent artery/ப   நளகம   நா ய   கிைள [Option ID = 75]
4. Branch of anterior tibial recurrent artery/   நளகம   நா ய   கிைள [Option ID = 76]

Thoracic duct drains in to which vein?

உேராதாைர எ த நாள தி  ெச   கல கிற ?
[Question ID = 20]

1. Azygoes system/ேப தண  நாள  [Option ID = 77]
2. Hepatic system/க  ர  நாள  [Option ID = 78]
3. Subclavian system/ெச    கீ நாள  [Option ID = 79]
4. Inferior vena cava/கீ  கா நாள  [Option ID = 80]

The Lumbar Plexus is found within the substance of which of the following muscle?

இ     சால  இ த ேபசி     ைத ததா  இ    
[Question ID = 21]

1. Psoas major/ேப க சி [Option ID = 81]
2. Quadratus Lumborum/க ச   [Option ID = 82]
3. Quadriceps Femoris/ெதாைட ச  லி [Option ID = 83]
4. Gluteus Maximus/ெப  சகன  [Option ID = 84]

The terminal branches of the Popliteal Artery are

இைவேய ம திர நா ய   இ தி  கிைளக 
[Question ID = 22]

1. Middle Genicular Artery and Dorsalis Pedis Artery/ச தி   நா   ம    பதேம  நா  [Option ID = 85]
2. Profunda  Femoris Artery and Middle Genicular Artery/ெதாைடய   ஆழிய நா   ம    ச தி   நா  [Option ID = 86]
3. Anterior Tibial Artery and Posterior Tibial Artery/   நளக  நா  ம    ப   நளக நா  [Option ID = 87]
4. Medial Malleolar Artery and Lateral Malleolar Artery/அக  பர    நா  ம     ற  பர   நா  [Option ID = 88]

The Duct of the Parotid Salivary Gland  is called

ெசவ     உமி ந    ேகாள தி   தாைரய    ெபய  
[Question ID = 23]

1. Wharton duct/வா டன  தாைர [Option ID = 89]
2. Stensen Duct/ ேத   தாைர [Option ID = 90]
3. Wirsung Duct/வ  ச  தாைர [Option ID = 91]
4. Bartholin Duct/பெதா   தாைர [Option ID = 92]

Which one of the following is a correct statement on Muscular dystrophy?

கீ க டவ றி  எ  ச யான    ?
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[Question ID = 24]
1. Muscular dystrophy is progressive degeneration of muscle fibers without the involvement of nervous system/'ம  ல     ேராப ”‐ என ப வ  நர   ம டல தி  ெதாட ப  றி தைசயான  ெதாட  சியாக வ வ ழ ப 

[Option ID = 93]
2. Muscular dystrophy is increased muscle tone and inability of the muscle to stretch/'ம  ல     ேராப ”‐ என ப வ  தைசய   இ  க  த ைம அதிக  ப , தைசய ைன ந  ட   யாம  ேபாவ 

[Option ID = 94]
3. Muscular dystrophy is stiffness of the certain muscles due to continuous contraction/ெதாட  சியான தைசய ைன மட  வதா , தைச இ கி ேபாவ 

[Option ID = 95]
4. Muscular dystrophy is decreased muscle tone offers very little resistance to stretch/தைசய   இ  க  த ைம  ைறவதா , தைசய   எதி    திற         ைறத 

[Option ID = 96]

What is the cause for the first heart sound?

 த  இதயஒலி உ டாவத கான காரண  எ ன?
[Question ID = 25]

1. Closure of the A‐V valves/ஏ‐வ  வா     வதினா  [Option ID = 97]
2. Closure of the aortic and pulmonary valves/க டைர ம       ச வா     வதினா  [Option ID = 98]
3. Opening of the A‐V valves/ஏ‐வ  வா   திற க ப வதினா  [Option ID = 99]
4. Atrial contraction/சிரவ    கள னா  [Option ID = 100]

What type of sensory impulses is carried by lateral spinothalamic tract?

எ தைகய உட  உண  கைள ‘ேல ர   ப ேனாதலாமி   ர  ’     ைள   எ     ெச கி ற ?
[Question ID = 26]

1. Proprioception/உட  அைச   றி த உண  க  [Option ID = 101]
2. Tactile sensation and localization        /ெதா  ம    ெபா ள   இட  அறித  உண   [Option ID = 102]
3. Crude touch/உ  த   ய ெதா  உண  க  [Option ID = 103]
4. Pain and temperature/வலி ம    த பெவ ப உண  க  [Option ID = 104]

Which one of the following is ‘Pagai suvai’ for Uppu? 

கீ க டவ    உ     ைவ  , பைக   ைவ எ ?
[Question ID = 27]

1. Enippu/இன    [Option ID = 105]
2. Karppu, Enippu and Pullippu/கா   , இன    ம     ள    [Option ID = 106]
3. All the other five suvai /ம ற  ைவக  அைன    [Option ID = 107]
4. All the other suvai except Kasappu/கச    ைவ தவ ர ம ற  ைவக  அைன    [Option ID = 108]

During a day, when the ‘Pitha nadi’ is dominant? 

நாள   எ த ேநர தி  ‘ப  த நா ’ மிக   அதிக    காண ப  ?
[Question ID = 28]

1. 6 am to 10 am/காைல 6  த  10 மண  வைர [Option ID = 109]
2. 2 pm to 6 pm/மதிய  2  த  6  மண  வைர [Option ID = 110]
3. 10 am to 1 pm/காைல 10  த  மதிய  1 மண  வைர [Option ID = 111]
4. Throughout the day time/நா    வ   [Option ID = 112]

Megalo blastic Anemia has a features of _____________

ெமகாேலாப ளா    அன மியாவ   காண ப   ம   வ  ண ______________.
[Question ID = 29]

1. Megaloblastic and hypochromic/ெமகாேலாப ளா    ம    ைஹேபா ேராமி  [Option ID = 113]
2. Megaloblastic and normochronicc/ெமகாேலாப ளா    ம    நா ேமா ேராமி  [Option ID = 114]
3. Megaloblastic and hyperchromic/ெமகாேலாப ளா    ம    ைஹப  ேராமி  [Option ID = 115]
4. Megaloblastic and macrocytic/ெமகாேலாப ளா    ம    ேம ேராைச   [Option ID = 116]

Following is a hydro choleretic agent_____________

ப  வ வதி  ஒ   ைஹ ேரா ெகாலெர   ஏெஜ    _____________

[Question ID = 30]
1. Bile salt /ப  த உ   (ைப  சா  )

[Option ID = 117]
2. Hydrochloric acid / ைஹ ேரா ேளா   அமில  (ைஹ ேரா ேளா   ஆசி )

[Option ID = 118]
3. Acetylcholine / அசிைட ெகாலி 

[Option ID = 119]
4. Cholecystokinin / ேகாலிசி ேடாகின  

[Option ID = 120]

The following feature is present in gram positive bacteria but absent in gram negative bacteria.

கீ க டவ றி  எ த உட  த ைம கிரா  பாசி      ய  ய   இ     கிரா  ெநக      ய  ய   இ  கா 
[Question ID = 31]

1. Peptidoglycan/ெப  ேடாகிைளகா  [Option ID = 121]
2. Teichoic acid/ ேகாய   அமில  [Option ID = 122]
3. Flagella/ப லாெஜ லா [Option ID = 123]
4. Capsule/ேக     [Option ID = 124]

Which of the following organism does not meet the criteria of koch’s postulates?

இதி  எ த    ய   ேகா ; பா  ேல   –   நிகரானதி ைல?
[Question ID = 32]

1. Steptococcus pneumonia/ ெட டாகா க  நிேமான யா [Option ID = 125]
2. Mycobactrium leprae/ைம ேகாபா   ய  ேல ேர [Option ID = 126]
3. Leptospira interrogans/ெல ேடா ைபரா இ  ராேக   [Option ID = 127]
4. Clostridium perfrigens/கிளா    ய  ெப ப  ஜ   [Option ID = 128]

Which of the following types of microbial agents are most frequently associated with production of antibiotics?

இதி  எ த வைகயான    ய  ஆ  ைபயா   கி  உ ப தி   அதி உ  ைணயாக இ  ப .
[Question ID = 33]

1. Soil Bacteria/ம சா  த  பா   யா [Option ID = 129]
2. Microbes found on the surface of the body/உடலி  ேம  ரமாக உ ள    ய   [Option ID = 130]
3. Soil viruses/ம சா  த ைவரஸ [Option ID = 131]
4. Aquatic fungi./ந     ைச [Option ID = 132]

Which of the following the genus of bacteria that does not possess cell wall

இதி  எ த பா   யா ெச லி   வ  இ ைல?

[Question ID = 34]

1. Salmonella/சா ேமான  லா

[Option ID = 133]

2. Mycobacteria/ைம ேகா பா   யா

[Option ID = 134]

3. Mycoplasma/ைம ேகாப ளா மா

[Option ID = 135]

4. Shigella/ ஜி லா

[Option ID = 136]

Antibodies are secreted by
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ஆ  பா ைய  ர பைவ
[Question ID = 35]

1. Plasma cells/ப ளா மா ெச  [Option ID = 137]
2. Cytotoxic cells/ைச ேடாடா ஸி  ெச  [Option ID = 138]
3. Helper cells/உத   ெச  [Option ID = 139]
4. Natural Killer cells/இய ைக ெகா    ெச  [Option ID = 140]

The two major components of microbial virulence are

   ய  ய     கியமான இர   ேநா  உ டா    காரண க .
[Question ID = 36]

1. Invasiveness and toxigenicity/உ  ைழ  ம    ந   [Option ID = 141]
2. Adhesins and capsule formation/ஒ  த  ம    பா கா   உைற [Option ID = 142]
3. Spreading and antiphagocytic factors/பர த  ம       க  யாைம. [Option ID = 143]
4. Intracellular and  extra cellular  parasitism/உ  ம    ெவள  ெச  ஒ   ண  தன  [Option ID = 144]

Nut meg contains a volatile compound called

ந ெம கி  காண ப   ெவால ைட  கா ப   
[Question ID = 37]

1. Mandarin/மா ட   [Option ID = 145]
2. Marmelosin/மா மேலாசி  [Option ID = 146]
3. Myricetin/மி ெச   [Option ID = 147]
4. Myristicin/மி   சி  [Option ID = 148]

Versatile stamens are found in  

ெவ சைட   டாெம   காண ப      ப 
[Question ID = 38]

1. Poaceae/ேபாேயசிேய [Option ID = 149]
2. Malvaceae/மா ேவசிேய [Option ID = 150]
3. Fabaceae/ேபபசிேய [Option ID = 151]
4. Arecaceae/அ ேகசிேய [Option ID = 152]

The drug Andrographis paniculata is bitter than

ஆ  ேராகிராப   பான  ேல டா இைதவ ட ைக பான 
[Question ID = 39]

1. Quinine/ ைவனா [Option ID = 153]
2. Swertia/ ெவ சியா [Option ID = 154]
3. Nux vomica/ந  வாமிகா [Option ID = 155]
4. Colocynth/ெகாேலாசி   [Option ID = 156]

Agave is an example of this xerophyte type

அேக  இ வைகயான ெசேராைப    உதாரண 
[Question ID = 40]

1. Drought enduring/ ரா  எ     [Option ID = 157]
2. Drought resistant/ ரா  ெரசி ட   [Option ID = 158]
3. Drought evading/ ரா  எேவ   [Option ID = 159]
4. Drought escaping/ ரா  எ ேக ப   [Option ID = 160]

The stipules in Cassia auriculata are

ேகசியா ஆ  ேல டா     லி  அைம  
[Question ID = 41]

1. auriculate/ஆ  ேல  [Option ID = 161]
2. appendiculate/அ ப    ேல  [Option ID = 162]
3. reticulate/ெர    ேல  [Option ID = 163]
4. emarginate/இமா ஜிேன  [Option ID = 164]

The Safflower oil is used as an adulterant for

சா ப ளவ  எ ெண  இத ட  கல பட  ெச வ 
[Question ID = 42]

1. Sesame oil/சிேச  ஆய   [Option ID = 165]
2. Coconut oil/ேகாகன ; ஆய   [Option ID = 166]
3. Olive oil/ஆலி  ஆய   [Option ID = 167]
4. Ghee/ெந  [Option ID = 168]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A : In plants, the tissue produced by cambium on inner side are collectively known as wood

Reason R :  Wood consists mainly of secondary cortex        

In light of the above statements, choose the correct answer from the options given below

    (A) : தாவர கள  , ேக ப ய தினா   உ  றமாக ேதா  வ  க ப   தி  கள   ெதா    க ைட என ப  .

வ ள க  (R) : க ைட  எ ப  இர டா  நிைல  றண யா  ஆன .

கீேழ ெகா  க ப   ள இர   அறி ைககள  , ஒ   வலி   த  A எ    ம ெறா   காரண  R எ    ெபய ட ப   ள 

[Question ID = 43]
1. Both A and R are true and R is the correct explanation of A / A ம    R ச , R ஆன  A    ச யான வ ள க 

[Option ID = 169]
2. Both A and R are true but R is NOT the correct explanation of A /A  ம    R ச , R ஆன  A    ச யான வ ள க  அ ல.

[Option ID = 170]
3. A is true but R is false / A ச , R தவ 

[Option ID = 171]
4. A is false but R is true / A தவ , R ச 

[Option ID = 172]

Match List I with List II

List I List II

A. Monocotyledonae I. Myrtales

B. Calyciflorae II. Microembryae

C. Disciflorae III. Microspermae   

D. Monochlamydeae   IV. Olacales

 V. Parietales

Choose the correct answer from the options given below:

 

ெபா   க 

ெதா     I ெதா     II

A. ேமாேனாகா  லிடேன I. மி ெடலி  

B. க ஸிப ேளாேர II. ைம ேராஎ பைரேய 

C.   கிப ேளாேர III. ைம ேரா ெப ேம 

D. ேமாேனா ளமிைடேய IV. ஓல ேக   



45)  

46)  

47)  

48)  

49)  

50)  

51)  

 V. பைரேட   

 

ச யான வ ைடைய  ேத  ெத  க   

[Question ID = 44]
1. A‐II , B ‐III , C ‐IV , D ‐ I

[Option ID = 173]
2. A ‐III , B ‐I , C ‐V , D ‐ IV

[Option ID = 174]
3. A ‐III , B ‐I , C ‐ IV, D ‐ II

[Option ID = 175]
4. A ‐IV , B ‐III, C ‐I , D ‐ II

[Option ID = 176]

A. Crataeva flower has Androphore

B. An aggregate fruite develops from multicapellary syncarpous ovary

C. Tannins prevent putrifaction

D. Ergastic substances are cell organells 

E. Terpenes are the chief costituents of volatile oil

Choose the correct answer from the options given below:

A. கிெரேட வா தாவர மல கள   மகர த   தா கி காண ப  . 

B. திர  கன க , பல இைண த  லிைலக  ெகா ட   ைபய லி    ேதா  கிற . 

C. டான  க   தி  அழிைவ   த     ெச ைக உைடயைவ.

D. எ கா    ெபா  க  எ பைவ ெச        க  ஆ   .

E. ந மண எ ெண கள     கிய ப தி  ெபா   ெட ப  க  ஆ  .

ேம  றிய     கள   அ  பைடய   ச யான வ ைடைய  ேத  ெத  க   

[Question ID = 45]
1. A, B and D only / A, C, D ஆகியைவ ம   

[Option ID = 177]
2. C, D and E only / A, C, E ஆகியைவ ம   

[Option ID = 178]
3. A and C only/B, C ஆகியைவ ம   

[Option ID = 179]
4. C and E only / C, E ஆகியைவ ம   

[Option ID = 180]

Which one of the following cures eclampsia in pregnancy?

க  ப ண க    உ டா    தக ச நி வலி ைப ேபா     லிைக எ ?
[Question ID = 46]

1. Keezhanelli/கீழாெந லி [Option ID = 181]
2. Aruganpul/அ க    [Option ID = 182]
3. Sadamaanjil/சடாமா சி  [Option ID = 183]
4. Thandrikkai/தா றி கா  [Option ID = 184]

Which of the following nullify the toxicity of serankottai and mundhiri ?

ேசரா ெகா ைட,   தி  ெகா ைட இைவகள   ந சிைன ந   வ  எ  ?
[Question ID = 47]

1. Thenkaipaal/ேத கா  பா  [Option ID = 185]
2. Nanjaruppan/ந ச  பா  [Option ID = 186]
3. Thekku/ேத   [Option ID = 187]
4. Nathaisoori/ந ைத    [Option ID = 188]

What is the dosage of Seenthil sarkarai for chronic cystitis ?

நா ப ட சி ந   ைப தாப த க    சீ தி  ச  கைர உ ெகா    அள  எ ன ?
[Question ID = 48]

1. 1‐4 gm/1‐4 கி [Option ID = 189]
2. 1‐5 gm/1‐5 கி [Option ID = 190]
3. 1‐4 kundri/1‐4   றி [Option ID = 191]
4. 1‐5 kundri/1‐5   றி [Option ID = 192]

Which of the following strengthens bone marrow and prevents asthma?

கீ  க டைவகள   எ  ம ைஜ தா ைவ வ   தி ெச   இைள   ேநா    இட ெகாடாம  பா கா    ?
[Question ID = 49]

1. Ghee/ெந  [Option ID = 193]
2. Curd/தய   [Option ID = 194]
3. Butter/ெவ ெண  [Option ID = 195]
4. Cream/பாேல  [Option ID = 196]

A. The ash of Mutilla occidentalis is having aphrodisiac activity

B. The firefly may be used for night blindness

C. The ash of blister bettles is used for whooping cough
D. The oil of Common Agemoid Lizard relieves seizures  

Choose the correct answer from the options given below

A. இ திரேகாப   சிய   சா ப  தா ைவ வ   தி ெச   .

B. மி மின    சிைய மாைல க  ேநா    வழ கலா 

C . எ வ    சா ப  க  வா  ேநா    பய ப  .

D. ஓணா  ெந  வலி ேநா    வழ கலா .

கீ  க டைவகள லி    ச யான வ ைடைய  ேத  ெத  க  .

[Question ID = 50]
1. A, B, C

[Option ID = 197]
2. B,C,D

[Option ID = 198]
3. A,B,D

[Option ID = 199]
4. A,B,C,D

[Option ID = 200]

Which medicine is prepared by using Vajra moosai ?

வ சிர ைச  ெகா   தயா  க ப   ம  தி  ெபய  யா  ?
[Question ID = 51]
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53)  

54)  

55)  

56)  

57)  

1. Vediuppu Chunnam/ெவ       ண  [Option ID = 201]
2. Thamira kalangu/தாமிர  கள   [Option ID = 202]
3. Linga kattu/இலி க க   [Option ID = 203]
4. Kalamega narayana chenduram/காளேமக நாராயண  ெச  ர  [Option ID = 204]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Smilax china has antisyphilitic activity. 

Reason R: Smilax china purify the blood and so syphilis is relieved.

In light of the above statements, choose the most appropriate answer from the options given below       

கீேழ இர       க  உ ளன.ஒ   வலி   த  

A, ம ற  காரண  R வலி   த   A : பர கி ப ைட ேமக ப ண ைய வ ல   . காரண 

R :பர கி ப ைட   திைய   த ப   வதா  ேமக ப ண  வ ல கிற .

ேம க ட    கைள ஆ    கீ  க டைவகள லி    ச யான வ ைடைய  ேத  ெத  க  .

[Question ID = 52]
1. Both A and R are correct and R is the correct explanation of A / A ம    R ஆகிய இர    ச . R எ ப  A  ய   ச யான வ ள க .

[Option ID = 205]
2. Both A and R are correct but R is NOT the correct explanation of A / A ம    R ஆகிய இர    ச . R எ ப  A  ய   ச யான வ ள கம  .

[Option ID = 206]
3. A is correct but R is not correct / A ச .ஆனா  R தவ .

[Option ID = 207]
4. A is not correct but R is correct / A தவ .ஆனா  R ச 

[Option ID = 208]

Which herb is used to prevent diseases in cows caused by microbes ?

  ,  சிகளா  மா க    ேநா  வர ஒ டாம  த      லிைக எ ?
[Question ID = 53]

1. Mayir manickam/மய  மாண  க  [Option ID = 209]
2. Eachuramooli/ஈ  ர லி [Option ID = 210]
3. Vidamoongil/வ ட  கி  [Option ID = 211]
4. Kurattai pazham/ ற ைட  பழ  [Option ID = 212]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The stone mortar made by black coloured stone is best for grinding the medicine.

Reason R: The black coloured stone mortar does not erode and not mix with the medicine while grinding.

In light of the above statements, choose the most appropriate answer from the options given below        

கீேழ இர       க  உ ளன. ஒ    வலி   த  A ம ற  காரண  R.

வலி   த  A : க     க லினா  ெச ய ப ட க வ தி 

ம    அைர த  உ தம .

காரண  R. : க     க லினா  ெச த க வ  ேத    ம   ட  கலவா  .

ேம க ட    கைள ஆ    ,கீ  க டவ றிலி   

த  த வ ைடைய  ேத  ெத  க  .

[Question ID = 54]
1. Both A and R are correct and R is the correct explanation of A / A ,R ஆகிய இர    ச  . R எ ப  A‐   ச யான வ ள க .

[Option ID = 213]
2. Both A and R are correct but R is NOT the correct explanation of A / A ,R ஆகிய இர    ச  .ஆனா  R எ ப  A‐   ச யான வ ள கம   .

[Option ID = 214]
3. A is correct but R is not correct  / A எ ப  ச , R எ ப  ச ய  

[Option ID = 215]
4. A is not correct but R is correct / A எ ப  ச ய  , R எ ப  ச 

[Option ID = 216]

Which disease is releived by giving  purified Ox gall with breast milk?

ேகாேராசைனைய  ைல பாலி  அ பான    ெகா  க எ ேநா  த    ?
[Question ID = 55]

1. Karunkiranthi/க  கிர தி [Option ID = 217]
2. Senkiranthi/ெச கிர தி [Option ID = 218]
3. Common cold/ந   ேகா ைவ [Option ID = 219]
4. Chickenpox/ைவ   [Option ID = 220]

A. If leaves of Sesbania grandiflora are ingested with medicines they will neutralize the effect of medicine.

B. The intake of Cluster beans  with valued medicine blocks the effect  of that medicine.

C. Henna leaves have astringent action.

D. Wrightia tinctoria seeds do not have  Anti‐diarrhoeal activity.

E. Justicia adhatoda relieves 13 types of sanni.

Choose the correct answer from the options given below:

A .அக தி  கீைரைய உ ெகா டா  ம ற ம   கள   ெச ைகைய  ெக     .

B . ெகா தவைரைய உ ெகா டா  ந ம  ைத  ெக     .

C . ம ேதா றி     வ  ப  ெச ைக உ  .

D . ெவ பாைல அ சி   கழி சைல   ணமா    ெச ைக இ ைல.

E . ஆடாேதாைடயா  ச ன  பதி      த    .

இ     கைள ஆ    கீ  க டவ றிலி    ச யான வ ைடைய  ேத   ெச க.

[Question ID = 56]
1. A, B and D / A ,B  ம    D

[Option ID = 221]
2. A, B, C and E / A ,B ,C ம    E

[Option ID = 222]
3. C, D and E / C ,D ம    E

[Option ID = 223]
4. B, C, D and E / B ,C ,D ம    E

[Option ID = 224]

How long the Arakku Thylam should be kept in Nel Pudam?

அர   ைதல ைத எ தைன நா  ெந   ட  ைவ   எ  க ேவ    ?
[Question ID = 57]

1. 60 days      /60 நா க  [Option ID = 225]
2. 48 days      /48 நா க  [Option ID = 226]
3. 90 days      /90 நா க  [Option ID = 227]
4. 30 days      /30 நா க  [Option ID = 228]
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Akil kattai thylam is a ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐

அகி க ைட  ைதல  எ ப  ஒ  ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐
[Question ID = 58]

1. Kudi thylam/   ைதல  [Option ID = 229]
2. Mudi Thylam/   ைதல  [Option ID = 230]
3. Pidi Thylam/ப   ைதல  [Option ID = 231]
4. Thulai Thylam / ைள ைதல  [Option ID = 232]

What is the measurement of Varatti (Cow dung cake)?

வர  ய   அள  எ ன ?
[Question ID = 59]

1. 15 cm breadth & 1 cm thickness/15 ெச .ம  அகல  ; 1 ெச .ம  கன  [Option ID = 233]
2. 30 cm breadth & 1 cm thickness/30 ெச .ம  அகல  ; 1 ெச .ம  கன  [Option ID = 234]
3. 15 cm breadth & 1.25 cm thickness/15 ெச .ம  அகல  ; 1.25 ெச .ம  கன  [Option ID = 235]
4. 30 cm breadth & 1.25 cm thickness/30 ெச .ம  அகல  ; 1.25 ெச .ம  கன  [Option ID = 236]

Which plant has Lead (Plumbum)?

கீ  க டவ றி  எ  வ க ச   ள  லிைக ?
[Question ID = 60]

1. Enicostemma axillare/ெவ ள   [Option ID = 237]
2. Achyranthes aspera/நா  வ  [Option ID = 238]
3. Aegle marmelos/வ  வ  [Option ID = 239]
4. Alternanthera sessilis/ெபா னா காண  [Option ID = 240]

Which one is not a precursor for the preparation of Chunnam?

கீ  க டவ றி  எ    ண   கான ஆதி  சர   இ ைல ?

[Question ID = 61]
1. Veeram/வ ர 

[Option ID = 241]
2. Javvathu/ஜ வா 

[Option ID = 242]
3. Punugu/   

[Option ID = 243]
4. Seenam/சீன 

[Option ID = 244]

Match List I with List II

List I List II

A. Vitiation of Kabam & VathamI. Fever (Suram)

B. Vatha Pitham derangement II. Urogenital disease (Megam) 

C. Amam III. Stabbing pain (Soolai) 

D. Vitiation of Vatham IV. Hiccough

 V. Anorectal diseases (Moolam)

 

Choose the correct answer from the options given below:

 

வ ைச I உட  வ ைச II ஐ  ெபா   க 

வ ைச I வ ைச II

A. கப  ம    வாத  அதிக  த I.கா  ச  ( ர ) 

B.வாத ப  த  சிைதத  ( ைறத ) II. சி ந   இன ெப  க உ    ேநா க  (ேமக )

C. ஆம III.   த  வலி ( ைல)

D. வாத  அதிக  த  IV. வ  க 

 V. ஆசன எ வா  ேநா க  ( ல )

 

கீேழ ெகா  க ப   ளவ     ச யான பதிைல  ேத  ெச க

[Question ID = 62]
1. A ‐ IV , B ‐ V, C ‐I , D ‐ III

[Option ID = 245]
2. A ‐ IV , B ‐ III, C ‐ I , D ‐ III

[Option ID = 246]
3. A ‐ II, B ‐ V , C ‐ I, D ‐ III

[Option ID = 247]
4. A ‐ IV , B ‐ V , C ‐ I , D ‐ II

[Option ID = 248]

Which of the Naadi pattern indicate the state of probable pregnancy according to Sage Yugi?

 கி  ன வ      ப , எ த நா   ைற சா தியமான க  ப தி  நிைலைய   றி கிற ?
[Question ID = 63]

1. Like the wriggle of a worm/ஒ      ழ  (ெநள  )ேபால [Option ID = 249]
2. Like the flutter of a Vittil insect/வ       சிய        ேபால [Option ID = 250]
3. Like the crawling of an ant/எ     ஊ வ   ேபால [Option ID = 251]
4. Like the creeping of a Snake/பா   ெநள வ  ேபால [Option ID = 252]

What is the predicted time for death when the bitter things do not taste so, but other tastes perceived as bitter?

கச    ைவய ைன உணர   யாத அேதேவைளய  , ம ற  ைவகைள கச    ைவயாக உணர   ய நிைலய  , எ தைன நா கள   மரண  நிக   என 
கண  க ப கி ற ?
[Question ID = 64]

1. 1 week/ஒ  வார தி  [Option ID = 253]
2. 1 month/ஒ  மாத தி  [Option ID = 254]
3. 15 days/15 நாள   [Option ID = 255]
4. 1 day/1 நாள   [Option ID = 256]

The variant of Urine that indicates the state of digestion is, 

சீரண நிைலைய   றி    சி ந     நிற  றி மா பா 
[Question ID = 65]

1. Dark tinged Urine/க ைம நிற சி ந   [Option ID = 257]
2. Green tinged Urine/ப ைச நிற சி ந   [Option ID = 258]
3. Red tinged Urine/ெச ைம நிற சி ந   [Option ID = 259]
4. Yellow tinged Urine/ம ச  நிற சி ந   [Option ID = 260]

Which Siddhar described the grave (mortality) sign as ‘face elongating like a needle’ ? 

"ஊசிேபா   க   ந   " எ ற மரண  றி  ண ைத எ த சி த  வ வ  தா ?
[Question ID = 66]
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1. Dhanvantri/த வ    [Option ID = 261]
2. Yugi/ கி [Option ID = 262]
3. Agathiar/அக திய  [Option ID = 263]
4. Paambaatti/பா பா   [Option ID = 264]

The Vayu responsible for the swelling / Oedema of body is, 

உட  வ  க தி   காரணமான வா ,
[Question ID = 67]

1. Koorman/  ம  [Option ID = 265]
2. Thananjeyan/தன ெசய  [Option ID = 266]
3. Kirukaran/கி கர  [Option ID = 267]
4. Viyaanan/வ யான  [Option ID = 268]

Free Radicals produce cell membrane damage by the following mechanisms

   ேர க  ப  வ   வழி ைறகளா  ெச  ச   ேசத ைத உ வா  கிற 
[Question ID = 68]

1. Lipid Peroxidation/லி ப   ெபரா ைஸேடஷ  [Option ID = 269]
2. Oxidation of Proteins/ ரத கள   ஆ ஸிஜேன ற  [Option ID = 270]
3. DNA Damage/ .எ .ஏ ேசத  [Option ID = 271]
4. All the above/ேமேல உ ள அைன    [Option ID = 272]

Given below are the two statements

Statement I : In Down's Syndrome, there is trisomy 21 in many cases.
Statement II:  46, XX, t(9;22) is seen in chronic meyloid leukemia.

கீேழ இர       க  உ ளன.
அறி ைக I: ட    ேநாய  , பல ேநாயாள கள     ேசாமி 21 உ ள  அறி ைக

II: நா ப ட ைமேலாய    ேகமியாவ   46, எ  எ  ,   (9; 22) காண ப கிற 

[Question ID = 69]
1. Both Statement I and Statement II are true / அறி ைக I ம    அறி ைக II இர    உ ைம

[Option ID = 273]
2. Both Statement I and Statement II are false / அறி ைக I ம    அறி ைக II இர    தவறானைவ

[Option ID = 274]
3. Statement I is true but Statement II is false / அறி ைக I உ ைம ஆனா  அறி ைக II தவறான 

[Option ID = 275]
4. Statement I is false but Statement II is true / அறி ைக I தவ  ஆனா  அறி ைக II உ ைம

[Option ID = 276]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A : In Sobai noi, the swelling of the body occurs.

Reason R : Reduction in amount of blood is due to the increase in kabam.

In light of the above statements, choose the correct answer from the options given below

கீேழ ெகா  க ப   ள இர   அறி ைககள  , ஒ   வலி   த  A எ    ம ெறா   காரண  R எ    ெபய ட ப   ள   

வலி   த  A: ேசாைப ேநாய  , உடலி  வ  க  ஏ ப கிற    

காரண  R: கப  அதிக    காரணமாக இர த தி  அள   ைறகிற 

ேம க ட    கள  அ  பைடய  , கீேழ ெகா  க ப   ள வ   ப கள லி    ச யான பதிைல  ேத  ெச க

[Question ID = 70]
1. Both A and R are true and R is the correct explanation of A / A ம    R இர    உ ைம ம    R எ ப  A இ  ச யான வ ள க 

[Option ID = 277]
2. Both A and R are true but R is NOT the correct explanation of A/A ம    R இர    உ ைமதா  ஆனா  R எ ப  A இ  ச யான வ ள க  அ ல

[Option ID = 278]
3. A is true but R is false/A உ ைம ஆனா  R தவறான 

[Option ID = 279]
4. A is false but R is true/A தவறான  ஆனா  R உ ைம

[Option ID = 280]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A : The lake water cannot be consumed.

Reason R : Because the sweet taste of lake water aggravates the Kabam.

In light of the above statements, choose the correct answer from the options given below

கீ    ற ப ட இர   ெதாட கள   ஓ       (ASSERTION: A) என  , ம ெறா   காரண  (REASON: R) என   ெபய ட ப   ளன.    

(ASSERTION: A): ஏ  ந ைர உ ெகா ள   யா . காரண 

(REASON: R): ஏென றா  ஏ  ந    இன     ைவ கப ைத ேமாசமா  கிற .

ேம க ட    கள   அ  பைடய  , கீேழ ெகா  க ப   ளவ றிலி    ச யான பதிைல  ேத  ெச க

[Question ID = 71]
1. Both A and R are true and R is the correct explanation of A / A ம    R இர    ச  ம    R எ ப  A இ  ச யான வ ள க .

[Option ID = 281]
2. Both A and R are true but R is NOT the correct explanation of A / A ம    R இர    ச   ஆனா  R எ ப  A இ  ச யான வ ள க  அ ல

[Option ID = 282]
3. A is true but R is false / A ச   ஆனா  R தவறான 

[Option ID = 283]
4. A is false but R is true / A தவறான  ஆனா  R ச 

[Option ID = 284]

Match List I with List II

List I List II

A. Instilling oil drops into the ears during oleationI. Eye diseases will be cured 

B.Instilling oil drops into the eyes during oleation II. Head diseases will be cured

C. Rubbing oil over the soles during oleation III. All diseases will be cured

D. Rubbing oil over the head IV.  Nasal diseases will be cured

 V.  Ear diseases will be cured

Choose the correct answer from the options given below:

 

வ ைச I உட  வ ைச II ஐ  ெபா   க 

வ ைச I வ ைச II

A. ைதல    கி  ேபா  கா கள   எ ெண    ள  வ  த I. க  ேநா க   ணமா  

B.ைதல    கி  ேபா  க கள   எ ெண    ள  வ  த II. தைல (சிர ேநா க )  ணமா  

C. ைதல    கி  ேபா  பாத கள   ேத  த III. எ லா  ப ண க    ணமா  

D. ைதல    கி  ேபா  சிரசி  ேத  த  IV.  நாசி ேநா க   ணமா  
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 V.  ெசவ  ேநா க 

கீேழ ெகா  க ப   ளவ     ச யான பதிைல  ேத  ெச க.

[Question ID = 72]
1. A ‐II , B ‐V , C ‐ III, D ‐ IV

[Option ID = 285]
2. A ‐ V, B ‐ I, C ‐ II, D ‐ III

[Option ID = 286]
3. A ‐V, B ‐III , C ‐ I, D ‐ II

[Option ID = 287]
4. A ‐ II, B ‐V , C ‐I , D ‐ III

[Option ID = 288]

Which of the following removes the ill effects caused by Buffalo's curd?

ப  வ வனவ றி  எ  எ ைமய   தய ரா  ஏ ப   த ய வ ைள கைள ந   கிற ?
[Question ID = 73]

1. Dried ginger/உல  த இ சி [Option ID = 289]
2. Pepper/மிள  [Option ID = 290]
3. Garlic/    [Option ID = 291]
4. Asafoetida/ெப  காய  [Option ID = 292]

Which of the following food variety is helpful in the curing of menorrhagia and bleeding?

ப  வ   ப ேவ  வைக உண கள     எ த வைக உண , ெப  பா  ம    இர த ேபா ைக   ண ப  த  உதவ கரமாக இ  கிற ?
[Question ID = 74]

1. Aval (Rice flake)/அவ  [Option ID = 293]
2. Rice Pittu/அ சி ப    [Option ID = 294]
3. Pori (Puffed Rice)/ெபா  [Option ID = 295]
4. Rice Pongal/அ சி ெபா க  [Option ID = 296]

A. The composition of the bath powder Nalanguma includes Neem (Vembu) seeds

B.  The composition of the bath powder Nalanguma includes Psoralea corylifolia (karbogi) seeds 

C. The composition of the bath powder Nalanguma includes chestnut rind (Kadukkai thol)

D. The composition of the bath powder Nalanguma includes Cyperus rotundus (Korai kizhangu) tubers

E. The composition of the bath powder Nalanguma includes Curcuma aromatica (Kasthuri manjal)

Choose the correct answer from the options given below:

A. நல  மா  ள ய  ெபா ய  , ேவ   வ ைதக   ேச  க ப கி ற .

B. நல  மா  ள ய  ெபா ய  , கா ேபாகி வ ைதக   ேச  க ப கி ற . 

C. நல  மா  ள ய  ெபா ய  , க  கா  ேதா   ேச  க ப கி ற .

D. நல  மா  ள ய  ெபா ய  , ேகாைர  கிழ    ேச  க ப கி ற .

E. நல  மா  ள ய  ெபா ய  , க    ம ச   ேச  க ப கி ற .

கீேழ ெகா  க ப   ளவ றிலி    ச யான பதிைல  ேத  ெச க:

[Question ID = 75]
1. B and D only / B ம     D ம   

[Option ID = 297]
2. A and C only / A ம     C ம   

[Option ID = 298]
3. C and E only / C ம     E ம   

[Option ID = 299]
4. C and D only / C ம     D ம   

[Option ID = 300]

The Season Aadhaana Kalam includes,

ஆதாநகால ப வ தி  உ ளட கியைவ
[Question ID = 76]

1. Maasi; Chitthirai/மாசி; சி திைர [Option ID = 301]
2. Aavani; kaarthigai/ஆவண ; கா  திைக [Option ID = 302]
3. Ippasi; Maargazhi/ஐ பசி; மா கழி [Option ID = 303]
4. Thai; Aavani/ைத; ஆவண  [Option ID = 304]

The condition where the person falsely beliefs that someone is trying to kill him is called as

யாேரா ஒ வ  த ைன  ெகா ல  ய சி கிறா  எ   ெபா யாக ந    நிைல இ வா   அைழ க ப கிற  .
[Question ID = 77]

1. Illusion/மா ப  தி உணர  [Option ID = 305]
2. Delusion/த ெப ண  [Option ID = 306]
3. Hallucination/இ ெபா   கா சி [Option ID = 307]
4. Impulse/ேநா கமி றி   சி தைனய  றி   தி ெரன ெசய பட  [Option ID = 308]

Leading questions are not allowed in

வ ைட ெபாதி வ னா க   இதி  அ மதி க படவ  ைல.
[Question ID = 78]

1. Examination in chief/சா சிய    த  வ சாரைணய   ேபா  [Option ID = 309]
2. Cross examination/     வ சாரைணய   ேபா  [Option ID = 310]
3. Reexamination/சா சிய ைன  தி  ப   வ சா     ேபா  [Option ID = 311]
4. Court questions/ந திம ற  ேக வ கள   ேபா  [Option ID = 312]

One of the following is not a grievous injury

ப  வ வனவ றி  ஒ   ெகா ரமான காய  அ ல.
[Question ID = 79]

1. Fracture of lower end of Humerus/ ய எ ப   கீ  அ த தி  எ    றி  [Option ID = 313]
2. Dislocation of lower central incisor/கீ   தாைடய   ைமய ெவ  ப கள    இட ெபய   [Option ID = 314]
3. Laceration of size 12x15 cms around the elbow joint/ ழ ைக   ெபா  ைத    றி 12x15 ெச.ம  அள  சிைத  [Option ID = 315]
4. Abrasion of size 10x12 cms over the right cheek/வல  க ன தி  10x12 ெச.ம  அள  சிரா    [Option ID = 316]

"Hatters shake" is seen in chronic poisoning with

"Hatters shake" ‐ இ த நா ப ட நிைலய ேல ப   ந சி   காண ப கிற .

[Question ID = 80]
1. Iron/அய 

[Option ID = 317]
2. Arsenic/ெவ ைள பாடாண 

[Option ID = 318]
3. Lead/கா ய 

[Option ID = 319]
4. Mercury/பாதரச 

[Option ID = 320]
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For all scorpion sting, Abraga parpam should be given with

அைன   ேத  க க    , அ ரக ப ப  இத ட  வழ க பட ேவ   

[Question ID = 81]
1. Uthamani juice/உ தாமண  சா 

[Option ID = 321]
2. Kaiyan juice/ைகயா  சா 

[Option ID = 322]
3. Erukkilai juice/எ  கிைல  சா 

[Option ID = 323]
4. Vellarugu juice/ெவ ள   சா 

[Option ID = 324]

While administering Aaduthinnapalai root, excessive sour taste is felt in which snake bite          

எ த பா    க ய  , அ த  டா பாைள ேவைர  ைவ க  ெச    ேபா  அதிக   ள      ைவைய உண வ ?

[Question ID = 82]
1. Mayakkara/மய கரா

[Option ID = 325]
2. Vazhalai/வழைல

[Option ID = 326]
3. Suruttai/   ைட

[Option ID = 327]
4. Saarai /சாைர

[Option ID = 328]

Match the following branches of forensic science laboratory with the analysis they do

i) Dactylography a) firearms

ii) Ballistic section b) DNA analysis

iii) Molecular biology c) counterfeit currency

iv) Document analysis d) fingerprints

 

ப  வ   தடய அறிவ ய  ஆ வக தி  கிைளகைள அவ க  ெச    ப  பா ேவா  ெபா    க .

i) ைகேரைக  பதி                          a)    பா கி, அத  வைகக   

ii)   , பைட கல அறிவ ய         b) DNA ஆ  

iii)    உய  ய   றா                   c) க ள ேநா  , க ள  நாணய  

iv)  ஆவண  திவக                                
 

d)  ைகேரைகக 

 

[Question ID = 83]
1. i ‐ d, ii ‐ a,  iii ‐ b, iv ‐ c

[Option ID = 329]
2. i ‐ d, ii ‐ c, iii ‐ b, iv ‐ a

[Option ID = 330]
3. i ‐ a, ii ‐ b, iii ‐ c, iv ‐ d

[Option ID = 331]
4. i ‐ b, ii ‐ d, iii ‐ c, d ‐ a

[Option ID = 332]

Match List I with List II

List I List II

A. Mercury I. Non‐metallic irritant

B. Phosphorus II. Metallic irritant

C. Glass powder III. Organic irritant

D.Vviper IV. Mechanical irritant

Choose the correct answer from the options given below:

 

Match List I with List II 

  வ ைசI வ ைச II

A.ரச                         I. உ  தைல உ டா    அேலக 

B.பா பர                     II. உ  தைல உ டா    உேலக 

C. க ணா                     III. உ  தைல உ டா    க ம 

D. வ  ய  பா                      IV. இய க தா  உ  தைல உ டா   

[Question ID = 84]
1. A ‐ III , B ‐ I  , C ‐ IV , D ‐ II

[Option ID = 333]
2. A ‐ II, B ‐ I , C ‐ IV , D ‐ III

[Option ID = 334]
3. A ‐ IV , B ‐II , C ‐ I , D ‐ III

[Option ID = 335]
4. A ‐ I, B ‐ III , C ‐ IV , D ‐ II

[Option ID = 336]

Given below are two statements

Statement I: Syncope means sudden stopage of the action of the brain.

Statement II: Rigomortis first appear in heart.

In light of the above statements, choose the most appropriate answer from the options given below

கீேழ இர       க  உ ளன.
    I‐    ைச எ ப   ைளய   ெசயல ற நிைலைய   றி   .

    II– ப ண வ ைற    தலி  இதய தி  ஏ ப  .

ேமேல ெகா  க ப   ள   றிைன  க  தி  ெகா  , கீ  க டவ றிலி    ெபா  தமான வ ைடய ைன  ேத  ெத  க   

[Question ID = 85]
1. Statement I is incorrect and II is correct /     II தவ  ம        II ச 

[Option ID = 337]
2. Both Statement I and Statement II are correct /     I ம        II ச 
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[Option ID = 338]
3. Statement I is correct but Statement II is incorrect /     1 ச      2 தவ 

[Option ID = 339]
4. Both Statement  I and  Statement II  are incorrect. /     I ம        II தவ 

[Option ID = 340]

Cherry like discolouration is a finding of poisoning with

ெச  பழ  சிவ   ப ணநிற மா பா  கீ  க ட ஒ  ந   நிைலய   காண ப  .
[Question ID = 86]

1. Lead/கா ய  [Option ID = 341]
2. Arsenic/தாளக  [Option ID = 342]
3. Carbon monoxide/காப  ெமானா ைச  [Option ID = 343]
4. Phosphorus/பா பர  [Option ID = 344]

Given below are two statements

Statement I: Unnavu sarathin vazhiyae Elunthu Utsuramaga kaikintra veda suram?

Statement II: Oonai Pattri elum Suram vittu vittu kayum.

In light of the above statements, choose the most appropriate answer from the options given below

 

கீேழ இர       க  உ ளன.

     I : உண    சார தி  வழிேய எ    உ  ரமாக   கா கி ற வ டா    ர .

    II : ஊைன  ப றி எ    ர  வ    வ    கா  .

ேமேல ெகா  க ப  ள   றிைன  க  தி  ெகா  , கீ  க டவ றிலி    ெபா  தமான வ ைடய ைன  ேத  ெத  க  .

[Question ID = 87]
1. Both Statement I and II are right /     I ம        II ச யான 

[Option ID = 345]
2. Statement I is right, Statement II is wrong /     I ச      II தவ 

[Option ID = 346]
3. Statement I is wrong, Statement II is right /     I தவ      II ச 

[Option ID = 347]
4. Both Statements are wrong /     I ம        II தவ 

[Option ID = 348]

Which are the medicines recommended for sleeplessness in Thamaraga noi?

தமரக ேநாய  ,   க  சிறி   இ லா  வா   ெபா   ெகா  க படேவ  ய ம   க  யாைவ?
[Question ID = 88]

1. Inji Elagam, Karisalai Elagam/இ சி இளக , க சாைல இளக  [Option ID = 349]
2. Thalisapathiri Elagam, Thanneervittan Nei/தாள சப தி  இளக , த ண  வ  டா  ெந  [Option ID = 350]
3. Kanja Elagam, Chinthamani Elagam/க சா இளக , சி தாமண  இளக  [Option ID = 351]
4. Vilvathy Elagam, Amukkara Elagam/வ  வாதி இளக , அ  கரா இளக  [Option ID = 352]

In which Disease Iya Naadi loses its normal beat and becomes weak?

எ த ேநாய   ஐய நா யான , த  இய ைக       இழ  , தள    ஓ  ?
[Question ID = 89]

1. Gunmum/  ம  [Option ID = 353]
2. Soolai/ ைல [Option ID = 354]
3. Vanthi/வா தி [Option ID = 355]
4. Thamaraga noi/தமரக ேநா  [Option ID = 356]

The  recommended disease and dose of Sagadevi Nei?

சகேதவ  ெந  ப   ைர க ப ட ேநா   ம    அள  எ ன?
[Question ID = 90]

1. Neer Adaippu, 1/2 Kazhanchu/ந ரைட  , 1/2 கழ   [Option ID = 357]
2. Vellai, 1/2 Uchikarandi/ெவ ைள, 1/2 உ சி கர   [Option ID = 358]
3. Neerchurukku, 1 Uchikarandi/ந       , 1 உ சி கர   [Option ID = 359]
4. Venneer, ¾ Kazhanchu/ெவ ண  , 3/4 கழ   [Option ID = 360]

Match List I with List II

List I List II

A. Associated  disease of Erumal I. Thamaraga noi

B. Associated disease of Keel vayu II. Kural kammal

C. Associated disease of Neerizhivu noi III. Azhal Iya Keel vayu

D. Associated disease of Megam IV. Vikkal

Choose the correct answer from the options given below:

ேநா கைள  , அவ றி   ைண ேநா கைள   ெபா   க.

வ ைச I வ ைச II

A.  இ ம  ேநாய    ைண ேநா  I. தமரக ேநா 

B. கீ  வா  ேநாய    ைண ேநா II. ர க ம 

C. ந  ழி  ேநாய    ைண ேநா III. அழ  ஐய   கீ வா 

D. ேமக ேநாய    ைண ேநா IV.வ  க 

[Question ID = 91]
1.  A‐I , B‐ II , C‐III, D‐IV

[Option ID = 361]
2. A ‐III , B ‐I , C ‐IV, D ‐II

[Option ID = 362]
3. A ‐II , B ‐I , C ‐IV , D ‐ III

[Option ID = 363]
4. A ‐IV , B ‐III, C ‐II , D ‐ I

[Option ID = 364]

Which one is the correct order of affected humours with respect to the stages of Kudiveri noi?

  ெவறி ேநாய   நிைலகைள  ெபா  தவைர பாதி க ப ட   ற கள   ச யான வ ைச எ ?
[Question ID = 92]

1. Vali, Azhal, Iyam, Mukkuttram/வள , அழ , ஐய ,     ற  [Option ID = 365]
2. Azhal, Iyam, Mukkuttram, Vali/அழ , ஐய ,     ற , வள  [Option ID = 366]
3. Iyam, Mukkuttram, Vali, Azhal/ஐய ,     ற , வள , அழ  [Option ID = 367]
4. Azhal, Vali, Iyam, Mukkuttram/அழ , வள , ஐய ,     ற  [Option ID = 368]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Rasam and Kuruthi, the body Constituents loses their strength and body becomes emaciated in kalleeral noi.

Reason R: In Kalleeral noi, Iya Kuttram is elevated.

In light of the above statements, choose the most appropriate answer from the options given below     



94)  

95)  

96)  

97)  

98)  

99)  

100)  

101)  

102)  

கீ    ற ப ட இர   ெதாட கள   ஓ       (ASSERTION: A) என  , ம ெறா   காரண  (REASON: R) என   ெபய ட ப   ளன.    

(ASSERTION: A): க  ர  ேநாய  , உட க  கள   இரச  ,   தி   வ ைமய ழ   உட  வ றி  ேபா  . காரண 

(REASON: R): க  ர  ேநாய   ஐய    ற  மி தி ப  .

ேமேல ெகா  க ப   ள   றிைன  க  தி  ெகா  , கீ  க டவ றிலி    ெபா  தமான வ ைடய ைன  ேத  ெத  க   

[Question ID = 93]
1. Both A and R are correct and R is the correct explanation of A / A ம    R இர    ச யானைவ ம    R எ ப  A இ  ச யான வ ள க .

[Option ID = 369]
2. Both A and R are correct but R is NOT the correct explanation of A / A ம    R இர    ச யானைவ ஆனா  R எ ப  A இ  ச யான வ ள க  அ ல

[Option ID = 370]
3. A is correct but R is not correct / A ச  ஆனா  R தவ .

[Option ID = 371]
4. A is not correct but R is correct / A தவ  ஆனா  R ச 

[Option ID = 372]

According to Theran, Muppini is classified in to

ேதர   ைற ப ,   ப ண  எ வா  வைக ப  த ப  ள ?
[Question ID = 94]

1. 8/8 [Option ID = 373]
2. 13/13 [Option ID = 374]
3. 10/10 [Option ID = 375]
4. 11/11 [Option ID = 376]

As per special medicine for Ascites,which of the following  suitable adjuvant for Kandha chenduram in treating Vali peruvairu?

சிற   ம   வமாக, கீ  க டவ    எ  வள  ெப வய  ‐   கா த ெச  ர  ட  அ பானமாக வழ க ப கி ற ?
[Question ID = 95]

1. Cow's milk/ப வ   பா  [Option ID = 377]
2. Vetrilai charu (Betel Juice)/ெவ றிைல சா  [Option ID = 378]
3. Thippili juice/தி ப லி சா  [Option ID = 379]
4. Goat's milk/ஆ   பா  [Option ID = 380]

Which of the following statements are correct? 

A. Symptoms like muppini are present in Passipayaru ammai.

B. Husk like pustules present all over the body in Uppu thiri ammai

C. Pustules starts in the third day in Milagu ammai

D. Yellowish diarrohea present in Karumpanisai ammai

கீ  க டவ    எ  ச யான க   ?

A. பாசிபய  அ ைமய     ப ண  கான  றி ண க  காண ப  

B. உ   தி  அ ைமய   உமி ேபா ற சீ   க  க  காண ப  

C. மிள  அ ைமய   சீ  க  க    றா  நாள   ேதா   

D. க  பன ைச அ ைமய   ம ச  நிற ேபதி காண ப  

[Question ID = 96]
1. A, C and E only / A, C ம    E ம   

[Option ID = 381]
2. A, B, C and E only / A, B, C ம    E ம   

[Option ID = 382]
3. A, C and D only / A, C ம    D ம   

[Option ID = 383]
4. B, D and E only / B, D ம    E ம   

[Option ID = 384]

As per the text Siddha Maruthuvam Sirappu, Which Asanam strengthens the Neck?

சி த ம   வ  சிற    லி  ப  எ த ஆசன தா  க    பல ப  ?
[Question ID = 97]

1. Savasanam/சவாசன  [Option ID = 385]
2. Sarvangasanam/ச வா காசன  [Option ID = 386]
3. Chakarasanam/ச கராசன  [Option ID = 387]
4. Sirasasanam/சிரசாசன  [Option ID = 388]

As per the Text Siddha Maruthuvam Sirappu, what is the benefit of performing Salabasanam?

சி த ம   வ  சிற    லி  ப  சலபாசன  ெச வதா  ஏ ப   ந ைம எ ன?
[Question ID = 98]

1. Expels Kabam/கப  ெவள  ப   [Option ID = 389]
2. Relieves Constipation/மல சி க  த    [Option ID = 390]
3. Relieves Joint pain/கீ ப  க  த    [Option ID = 391]
4. Strengthening Spine/  ெக    பல ப   [Option ID = 392]

Which one of the matching statement is wrong?

கீ  க டவ    தவறான ெபா  த  எ ?
[Question ID = 99]

1. Munangal kirigai – Firing the house/ப  தகி ைக    ‐ ஆைடகைள கிழி    ேபா   [Option ID = 393]
2. Valippu kirigai – Redness of eyes/அன கி ைக     ‐   ப    [Option ID = 394]
3. Echil kirigai – Barking like a dog/எ சி கி ைக    ‐ நா ேபா   ைர    [Option ID = 395]
4. Vatha kirigai – Opens eyes/வாதகி ைக    ‐ க கைள திற   ெகா    [Option ID = 396]

Frequent urination is a character of which type of Kutta Noi?

அ  க  சி ந   கசி    றி ண  காண ப     டேநா  எ ?
[Question ID = 100]

1. Sithuma kuttam/சி  மா   ட  [Option ID = 397]
2. Thethru kuttam/ேத      ட  [Option ID = 398]
3. Satharu kuttam/சதா    ட  [Option ID = 399]
4. Kidipa kuttam/கி ப   ட  [Option ID = 400]

Which one of the following is added with Narseeragam, Vishnu kiranthi for the preparation of kanji (Porridge) which is used for the management of Moothira kaalam injury? 

  திர கால இள   ைறய   ெகா     க சிய   ந சீரக , வ   கிர தி ட  ேச   ெபா   எ ?
[Question ID = 101]

1. Vengayam/ெவ காய  [Option ID = 401]
2. Elam/ஏல  [Option ID = 402]
3. Amirtha valli/அமி தவ லி [Option ID = 403]
4. Vilva ver/வ  வேவ  [Option ID = 404]

Which one of the following raw material is an ingredient of Varma Nei?            

கீ  க ட எ த கைட சர   வ மெந  ெச  ைறய   ேச  க ப கிற ?
[Question ID = 102]
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1. Veliparuthi/ேவலி ப  தி [Option ID = 405]
2. Sitramutti/சி றா    [Option ID = 406]
3. Peramutti/ேபரா    [Option ID = 407]
4. Kurunthotti/   ெதா       [Option ID = 408]

Sweating is not seen in which Varmam injury?

எ த வ ம தி  வ ய ைவ உ டாத  எ ற  றி ண  காண படா ?
[Question ID = 103]

1. Natchathra Kaalam/ந ச திர  கால  [Option ID = 409]
2. Thummi Kaalam/  மி  கால  [Option ID = 410]
3. Ner Varmam/ேந  வ ம  [Option ID = 411]
4. Adappa Kaalam/அட ப  கால                          [Option ID = 412]

Palpitation is seen in which Moorchai Noi?

எ த    ைச ேநாய   தமரக  படபட த  காண ப  ?
[Question ID = 104]

1. Vali Moorchai/வள     ைச [Option ID = 413]
2. Azhal Moorchai/அழ     ைச [Option ID = 414]
3. Iya Moorchai/ஐய    ைச [Option ID = 415]
4. Kuruthi Moorchai/  தி   ைச [Option ID = 416]

Which one of the following Unmatham diseases has the character of Laughing?

நைக த  எ ற  றி ண  உ மாத ேநாய    றி ணமா  ?
[Question ID = 105]

1. Vali Unmatham/வள  உ மாத  [Option ID = 417]
2. Azhal Unmatham/அழ  உ மாத  [Option ID = 418]
3. Iya Unmatham/ஐய உ மாத  [Option ID = 419]
4. Nanju Unmatham /ந   உ மாத  [Option ID = 420]

Neeradi muthu seed and Agathi bark are mixed with which one of the following for the application of Eye in Kirigai?

கி ைக   பய ப   க ைமய   ந ர     ப    அக தி  க ைட க  இவ ைற கீ  க ட எதன    ைழ   த  டேவ   ?
[Question ID = 106]

1. Cow’s milk/ப  பா  [Option ID = 421]
2. Mother milk/தா  பா  [Option ID = 422]
3. Honey/ேத  [Option ID = 423]
4. Lemon juice/பழ சா  [Option ID = 424]

Match the following places of Suttigai with the diseases that can be cured

List I List II

A. Purangaal I. Paandu Noigal

B. Maarbin Keel II. Andavaayu

C. Kaarparadu III. Vidhai Veekam

D. Keeluthadu IV. Soolai

 V. Kabha Noi

 

   ைக இட   ய இட கைள   ந     ேநா கைள   ெபா   க

வ ைச I வ ைச II

A. ற கா I.பா   ேநா க 

B.மா ப   கீ            II.அ டவா 

C.கா பர III.வ ைதவ  க 

D.கீ த IV. ைல

 V. கபேநா 

 

[Question ID = 107]
1. A ‐V, B ‐III , C ‐I , D ‐IV

[Option ID = 425]
2. A ‐III , B ‐IV , C ‐II , D ‐V

[Option ID = 426]
3. A ‐II, B ‐IV , C ‐I , D ‐V

[Option ID = 427]
4. A ‐IV , B ‐I , C ‐V , D ‐III

[Option ID = 428]

Blood letting method is beneficial in which type of Kuttam?

  தி வா க   ைற எ த வைக   ட தி  ந ைம பய    ?
[Question ID = 108]

1. Vali Kuttam/வள     ட  [Option ID = 429]
2. Azal Kuttam/அழ   ட  [Option ID = 430]
3. Iya Kuttam/ஐய   ட  [Option ID = 431]
4. Mukkutra Kuttam/    ற   ட  [Option ID = 432]

Statement I: In deep perforating ulcers, silver probe should be used to determine the depth of the ulcer and then it should be treated with Karanool Ligation.

Statement II: Since copper sulphate, datura, acalypa indica and coconut oil are used in medicines treating ulcers it removes debris and heals the wound. 

     I : சிைல   ேண ப   அைத ெவ ள   சலாைக ெகா   நிதான  தப   கார   ெகா   அதைன அ    வ ட ேவ   .

    II : மய     த ,  ஊம ைத சா ,    ைபேமன  சா  , ெத   ெந  ேச     கா  சிய ம    ெக ட ஊ  வள  சிைய  கைர பத      ைண ஆ  வத    பய ப கிற 

[Question ID = 109]
1. Both Statement I and II are true /     I ம        II ச யான 

[Option ID = 433]
2. Both Statement I and II are false /     I ம        II தவ 

[Option ID = 434]
3. Statement I is true but Statement II is false /     I ச      II தவ 

[Option ID = 435]
4. Statement I is false but Statement II is true /     I தவ      II ச 

[Option ID = 436]

If blood is toxified in case of Pungal, what drugs can be given for internal medicies?

  க    உ ம   க  வழ    ேபா  ெச ந   ெக    தா  எைவ ச ப தமான ம   கைள  ெகா  க ேவ    ?
[Question ID = 110]

1. RASAM , GANDHAGAM , PARANGIPATTAI , NEERADIMUTHU/இரச  , க தக  , பற கி ப ைட ,ந ர     [Option ID = 437]
2. ERUMBU , RASAM , PAVALAM , SEMBU/இ    , இரச  ,பவள , ெச   [Option ID = 438]
3. ERUMBU , GANDAGAM , SEMBU , SERANKOTTAI/இ    ,க தக  ,ெச  , ேச ெகா ைட [Option ID = 439]
4. RASAM , GANDAGAM , PAVALAM , PARANGIPATTAI/இரச , க தக  , பவள , பற கி ப ைட [Option ID = 440]

Match the symptoms of Moolam List I with types List II
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113)  
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List I List II

A. PARUPPU POL MULAI I. AALI MOOLAM

B. NELLAI POL MULAI II. PAUTHIRA MOOLAM

C. POOKAL POL ERUVAYIL MULAI III. SENDU MOOLAM

D. KARUNAIKILANGU POL MULAI IV. PURA MOOLAM

 V. PITHA MOOLAM

Choose the correct answer from the options given below:

 

கீ  க ட  ல வைககைள அத   றி ண க ட  ெபா   க.

வ ைச I வ ைச II

A. ப     ேபா   ைள          I. ஆழி  ல 

B. ெந ைல  ேபா   ைள        II. ப  திர  ல 

C.   க  ேபா  எ வாய    ைள III. ெச    ல       

D. க ைண கிழ   ேபா ற  ைளIV.  ற  ல    

 V. ப  த  ல     

கீேழ ெகா  க ப   ளவ    ச யான பதிைல  ேத  ெச க

[Question ID = 111]
1. A ‐ IV, B ‐ II, C ‐ I,D ‐ III

[Option ID = 441]
2. A ‐ II, B ‐ III, C ‐ V, D ‐ IV

[Option ID = 442]
3. A ‐ III, B ‐ V, C ‐ II, D ‐,I

[Option ID = 443]
4. A ‐ IV, B ‐V , C ‐II , D ‐ III

[Option ID = 444]

THIRIKADUKADHI NIMBHA THAILAM ‐ In which ear disease it is used as ear drops?

தி க காதி நி ப  ைதல  எ த ெசவ   ேநா    காதி  வ ட பய ப  த ப கிற  ?
[Question ID = 112]

1. Neer Sanni/ந   ச ன  [Option ID = 445]
2. Sura Soolai/ ர ைல [Option ID = 446]
3. Kuruthi Vedisanni/  திெவ  ச ன  [Option ID = 447]
4. Sanni Soolai/ச ன  ைல [Option ID = 448]

Which raw drug is added to “Thoothuvalai Nei” – that is used for Kakkuvan in children?

க  வா  ேநா     பய ப     வைள ெந ய   ேசர    ய கைட  சர   எ ?
[Question ID = 113]

1. Athimathuram/அதிம ர  [Option ID = 449]
2. Kottam/ேகா ட  [Option ID = 450]
3. Thippili/தி ப லி [Option ID = 451]
4. Arathai/அர ைத [Option ID = 452]

Which tumour mimics the signs and symptoms of pregnancy in females?

   ெகா ட  றி ண கைள ஒ த கழைல எ ?
[Question ID = 114]

1. Uterine tumour/க  ைப  கழைல [Option ID = 453]
2. Rectal tumour/வ ேரகி கழைல [Option ID = 454]
3. Ovarian tumour/சிைன ைப  கழைல [Option ID = 455]
4. Uterine cervical tumour/க  ைப  க    கழைல [Option ID = 456]

What is the percentage of incidence of both cephalic presentations in twin pregnancy?

இர ைட   ழவ    லி , இர   உதய க   சிர  உதயமாக ேநர   ய வ   கா  எ ன?

116)  

117)  

118)  

119)  

இர ைட   ழவ    லி , இர   உதய க   சிர  உதயமாக ேநர   ய வ   கா  எ ன?
[Question ID = 115]

1. 10%/10% [Option ID = 457]
2. 25%/25% [Option ID = 458]
3. 35%/35% [Option ID = 459]
4. 45%/45% [Option ID = 460]

If the medicine “Veliparuthi Ennai” is given to pregnant women, which disease will be   prevented for the child to be given birth by her?

ேவலி ப  தி எ ெணைய  க  பமாய   பவ க     ெகா  தா  ப ற     ழ ைத   எ த ேநா  உ டாகா ?
[Question ID = 116]

1. Mukku Kanam/    கண  [Option ID = 461]
2. Ama Kanam/ஆம கண  [Option ID = 462]
3. Eri Kanam/எ  கண  [Option ID = 463]
4. Manthara Kanam/ம தார கண  [Option ID = 464]

For how many days, the medicine “Thulasi Ennai” has to be given respectively for 5 months and 1 year old child affected by Sooli Kanam?

5 மாத  ம    1 ஆ    ழ ைதய    லி  கண தி    ளசி எ ெணைய எ வள  நா க  ெகா  க ேவ   ?
[Question ID = 117]

1. 40 days and 5 days/40 நா க  ம    5 நா க  [Option ID = 465]
2. 5 days and 8 days/5 நா க  ம    8 நா க  [Option ID = 466]
3. 40 days and 13 days/40 நா க  ம    13 நா க  [Option ID = 467]
4. 5 days and 40 days/5 நா க  ம    40 நா க  [Option ID = 468]

Choose the correct statements from the options given below:‐

Statement I : The increase in secretion of progesterone causes amenorrhoea during pregnancy.

Statement II : The decrease in secretion of progesterone causes abortion during pregnancy.  

கீ க டவ    ச யான   றிைன ேத  ெத  க  .

    I :  ப தக திலி     ர     ேராஜ  ரா  அள  அதிக  தா     கால தி   தக தைட ஏ ப  .

    II :  ப தக திலி     ர     ேராஜ  ரா  அளவ  ைற தா     கால தி  க சிைத  ஏ ப  .  

[Question ID = 118]
1. Both Statement I and Statement II are false . /     I  ம        II  தவ .

[Option ID = 469]
2. Statement I is correct but statement II is false . /     I ச      II தவ 

[Option ID = 470]
3. Both Statement I and Statement II are correct /     I  ம        II  ச .

[Option ID = 471]
4. Statement I is false but statement II is correct . /     I  தவ      II  ச .

[Option ID = 472]

What is the normal presentation in normal labour?



120)  

 கமக ேப றி  ஏ ப   இய பான உதயபாக  எ  ?
[Question ID = 119]

1. Brow presentation/  வ உதய  [Option ID = 473]
2. Breech presentation/  ட உதய  [Option ID = 474]
3. Left occipito anterior/இட     ப ட  [Option ID = 475]
4. Occipito posterior position/ப   ப ட  உதய  [Option ID = 476]

Name the medicine indicated for 96 types of Karappan?   

96 வைக கர பா     ற ப   ள ம    எ ன ?
[Question ID = 120]

1. Karisalai ennai/க சாைல எ ெண  [Option ID = 477]
2. Siru seruppadai ennai/சி  ெச  பைட எ ெண  [Option ID = 478]
3. Siru kurinjan ennai/சி  ெச  பைட எ ெண  [Option ID = 479]
4. Agathi ennai/அக தி எ ெண  [Option ID = 480]




